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Question 2

Booklet A (28 x 2 marks}
For each question from 1 to 28, four options are given. One of them is the correct answer.

Which of the following statements about plants are correct?
A: Some plants have weak stems

B: The stem holds the plant firmly to the soil

C: A plant grows well when each plant part functions properly

Multiple Choice
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N/A
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Vhich one of The ﬁ}lmdng is comect?

| Owgan involved in digestion | Cwga involved in the absorpiion |

of food of fooad
&) micarh gullet
- (2) gullet siomach
(55 5] slomach small intestine ]
[ *arnall intEsting large intestine
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
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The diagram below shows a flaating watar plant.

\Which of the lollowing correctly shows tha funclion of the parts of tha plant?

rmakes food | absorhs water |
ST
(1) A
@ r A
FE] B o)
(4} c A ]
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
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Which of the following have mass and occupy space?

v" A) apple and ink
B) marble and heat
C) apple and heat
D) ink and shadow
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Question Type: Multiple Choice
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The diagram below shows how food travels in the human digestive systam.

mauth Z — & | large intestine
— —:';‘-.— ?

Based on the diagram, which of the following is comact?

sriall intesline gloamach
{1} _ ¥
(2} £ Y
3} Y 7
(4} ¥ X
¥
s | S, i ) —eE—— i = ——————
A) 1
v B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
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Which one of the following is not a source of heat?

v A) abook

B) the sun
C) alighted match
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D) a burning candle
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Question 7

Multiple Choice
No

Thu 7th Jan 2021
N/A
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Which of the following best rapresents matter in gaseocus atata";"

Can be compressed Has a fixed shape
(1} Yes . Mo e
(2) Yos Yes
(3) Mo L N =i
(4] Ne Yes
A) 1
B) 2
c) 3
D) 4
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Question 8

Multiple Choice
No

Thu 7th Jan 2021
N/A
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Question 9

Muiltiple Choice
No

Thu 7th Jan 2021
N/A

25,755,057

A B
()| e SR
(2) | gas liquid |
(3) | Squid liguid |
| (8) | tiguid soid |
A) 1
B) 2
c) 3
v' D) 4
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The diagram below shows a beaker containing bwvo substances, A and B,

beaker
substance A

substance B

subsiance A

— substance B
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Which of the lollowing containers of watar has the most amount of heat?

Watar al
i g
(1) 12) (3) (4)
A) 1
v B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
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Jaydan powred 25 ml of watar inte each of the three measuring cylinoers.
He then placad three different abjects, X, ¥ and £, inta the measuring
cylinders as showm In the diagram balow,

Pl =

Hased an fis chaensabons, which of the following canchssions ans
correot?

A: Obpect 2 has the largest volume
B: Obiects Y and T have the same volume,
C: Objact ¥ has a greatar voluma than Ohject X.

A) AandBonly

B) AandConly
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v C) BandConly

D) A,BandC

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021
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QID#: 25,755,062
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Joseph and his brothar were playing fable tenmiz. Joseph accidentally
stepped on fhe table tennis ball as shown in the diagraen below.

Based on fhe information given, which of the following is cormect after Joseph

alappad on the table tennis bal?
Shape of the tabie tenmis ball | Mass of the table tennis ball
e changes incraaeas !
L i . =1 -
[(z) ! ChAnGEs remans e same
L1 =T : ‘decreazes
035 famains the same a
{4} remaing the same remains he same
A) 1
v B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,069
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Qu estion 12 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

The table below shows some proparfies of lhves objects A, B and C al

Fel bernparature.

Properties Dbjeci A | ObjeclB | ObjectC |
_Has a definite shape Yk No i J
Has a definite volurne: | Yes Yeu | WO

Which of the lollowing correclly represents objects A, B and cF

Object A [ ObjectB [ Objectc |
L1 il | Etone oiygen
c(2) | sbons i coygen ol
N shons | oil _Oxypen
() i DEygen Moho
A) 1
B) 2
v C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,073
Qu estion 13 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

The diagram below shows & pump connected 0 a glass @i with & capacily of 300 cim,

g B0 o of al

glass jar
(=00 em?)

When the pumg is pushed complately in, 30 cm? of weter and 80 am? of air ks foroed
inte the jar,

Y¥ehal is the volume ol the s in the jar?

A) 60cm3

v’ B) 270cm3

C) 330cm3
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D) 360cm3
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Question 14

Multiple Choice
No

Thu 7th Jan 2021
N/A

25,755,080
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Study the classification table belew.

Matertals

I

!

A

Pooe ponducior of heal

Gaod condustor of heal
B

Which of the inflowing could materals & and B be?
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A B
Ayl Staol - Aburniniuen
i2) =: Papear Wood
(3] Cloth Plzastic
||:TH | ~ Ceramic I Coppor
|/
A) 1
B) 2
C) 3
v D) 4
Question Type: Multiple Choice
Randomize Answers: No
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When we add ice cubes to hot milo, the hot milo ___ heat to the ice cubes and its temperature
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A) gains, falls
B) gains, rises

v C) loses, falls

D) loses, rises

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,755,092
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The diagram below shows a frying pan.

The frying pan is made up of iron and plastic.
Why is the handle of the frying pan made of plastic?

A) Plasticis light
B) Plastic is flexible
¥ C) Plastic is a poor conductor of heat

D) Plastic is a good conductor of heat

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,755,097
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A cup of cold water at 5°C was left on a table with a room temperature of 28°C.
What would be the likely temperature of the cup of cold water after six hours?

A) 0°C
B) 5°C
v C) 28°C
D) 90°C
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,110
Question 18 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Joshua keeps kimself warm by sitiing near & fire as shown in the diagram
bl

Which of the following bast explaing why he leels wanm around the fire?

A) His body loses heat to the fire
¥’ B) His body gains heat from the fire
C) His body gains heat from the wood

D) His body loses heat to the surrounding air

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,755,118
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Question 19

Which of the following are examples of water gaining heat?
A: A cup of ice melting

B: A pot of water boiling

C: A cup of water in a freezer

A) AandB only
B) B and C only

v C) AandC only

D) A,BandC
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,126

Question 20
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John placed two similar B kp medal blocks on bag similar stoots mide of difforen
maiedaks, Wil & fes minuies, b observed that slosl B broks o showsn 0 e

disgram balow,

IES

Aler that, v placod paa sirilar 10 kg metal blocks on sigal O and anolhas semnilar stool,
R, mads of & dfferant matarial. YWithin 3 bew minutes, he obsened thal =tool G broke as

ahown in the disgram balos

=TT

Wi hat conrlisions can John make based on his gbseralions?

& Shool @ s made of the slrongesl imakernal
!'! took O is made of & sEonger malenal than sioal P
- Sieol R & made of & strongar maberdal than sleal P.

A) AandBonly
B) Aand C only
v' C) BandC only

D) A,BandC
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,755,130
Question 21 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Jane ochserved some leaves. She classifed the leaves as shown in the lable
bealowy

Lzal X

In which group should Jane classify leaf X7

v A) A
B) B
C) C
D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,132
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Whach of the following dassifcations abcul fungi and berns ane carrect?

hide-and-seek. Childron ane able o climb inko the stacks of car tyes eaiy and
safaly.

iHH = _l-.:::;l;:P
L LL T [ ;

Which of the following properiies make & car b suitabia for the hide-and-sesk
garns at an ouldoor playground?

A It s shiong.
B: B does nat aboorh wated
0 Itcoos nat allow Bght to pass through.

A) AandBonly
B) Aand C only
C) BandConly

v' D) A BandC

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 7th Jan 2021
Last Modified: N/A
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" Fungi Fern
“A |iisanoteplent i is @ plant.
B | il reproduces through spores. It reproducss through Spores.
C | It makes its own food It femds on decaying matier.
v" A) Aand B only
B) Aand C only
C) BandConly
D) A,BandC
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,137
Question 23 Primary 4 Science » Primary 4 Science (Term 2)

Oid car tyres, made of rubber, are used in ouldoor playgrounds for hildran o play
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Question 24

25,755,149
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Study the two groups of organisms, A and B, below.,

Primary 4 Science » Primary 4 Science (Term 2)

B

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 25
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Muiltiple Choice
No

Thu 7th Jan 2021
N/A

25,755,150

Gmp Covered with lve birth fo
scales young alive
Ml A No Tan
(2) A | Yes Yes
@] 8 | No s
4) B Yes B "r'lﬁ___
A) 1
B) 2
v C) 3
D) 4

Which of the following cormaclly describes how the organisms are grouped

Primary 4 Science » Primary 4 Science (Term 2)
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Five bar magrels with e pobes nearked A 1o J are amanged s shown below,

[4 B | J]
C H
D G
| S

Wiich ome of the following shows a possible amangement of two magnets?

v A) A
B
| J
B)
H
G
B E
C)
B Al
F
E |
D)
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Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,755,156

Question 26 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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Pator weants 1o find out Fow the number of batloies affects (e strength of an
alsctramagnet, The dagrams balow show the srangements of sach sab-up.
i
400 colls
100 cois
Satup X
Sal-up W b
I':\'\\ 2
T I
i
- B0 cods
50 colls
T L'_F'-I_,.'—'f
Sat-up ¥ Selap £
in order to conduct 8 falr beat, which bwo sal-ups should Peier choose?
A) Wand X
B) XandZ
v C) YandZz

D) WandY
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,159
Question 27 Primary 4 Science » Primary 4 Science (Term 2) 2 pts
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A compass has a srmall magned that can rolate frealy as shown

rmagral

Thres bar magnels werns armnged such that they were attracted to one another. A
compass was then placed near pole H and the direction of the compass needis is as

ehvan beloer
@-- e COVOEES
H

¥o

G

Wihal would ba ihe direction of the neadle whan e mmpaaa@ wiais [aned near
&7 - '

A)

v B)

C)

D)
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,165
Question 28 Primary 4 Science » Primary 4 Science (Term 2) 2 pts

Lok at b classfication labile below

|Lﬂe-c5rnhnfir:1nf

N

[ ] [

doas rol
romiaie | | tomelni' || Teonbesa
] ] !

(=] [F] o .s

Wha could onganism P, 0 and R mos] Blody be?

s F' 3] _: R
[N butarfly frog __grasshapper
) grasshoppar fron “‘f;"";g“? —
(3] buttarfly prasshopper
4) gresshoppes | buterfly frog
A) 1
v B) 2
C) 3
D) 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 7th Jan 2021
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Last Modified: N/A

QID#: 25,755,167

Question 29 Primary 4 Science » Primary 4 Science (Term 2)
Booklet B

This section is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it
was designed in such a way that it requires manual assistance.

Mngpu’nplle.uﬂHﬂgmmmuuhtnamiﬂMufmdmmm.

plant X

cinieal feak

rad-colouned waler

} Mame the main funcfion of the roots.

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,173

Correctly answered feedback

The roots absorb water for the plant

Incorrectly answered feedback
The roots absorb water for the plant

Question 30 Primary 4 Science » Primary 4 Science (Term 2)

What would Ai Tong observe on the leaves of plant X after six hours?

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,175

Correctly answered feedback
The leaves would turn red colour

Incorrectly answered feedback
The leaves would turn red colour
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Question 31 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Explain the observation made in (b)

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,179

Correctly answered feedback

The roots were placed in red-coloured water so the roots would absorb the water and then the
water-carrying tubes would transport the red-coloured water to the leaves.

Incorrectly answered feedback

The roots were placed in red-coloured water so the roots would absorb the water and then the
water-carrying tubes would transport the red-coloured water to the leaves.

Question 32 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

The diagram below shows an organ system in the human body.

(a] Name the organ system shown above.

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,181

Correctly answered feedback

The skeletal system
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Incorrectly answered feedback

The skeletal system

Question 33 Primary 4 Science » Primary 4 Science (Term 2) Opts

State two functions of the organ system show above.

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,186

Correctly answered feedback

1. It protects vital organs in the body.
2. It gives the body shape and support.

Incorrectly answered feedback

1. It protects vital organs in the body.
2. It gives the body shape and support.

Question 34 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Name part Y

Accepted answers:
¥ The skull

v Skull

Question Type: Free Text

Date Added: Thu 7th Jan 2021

Last Modified: N/A

QID#: 25,755,225

Question 35 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
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All sat up an experiment a8 shown below.

) Ali used a straw io blow air info the eup as shown in the diagram above.
Ha observed that the water level in the cup decreased.

E_:pm-..qi‘s obsaryation,

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,228

Correctly answered feedback
There was air being blown into the cup and air occupies space. The air would push the water down
as it could not escape.

Incorrectly answered feedback
There was air being blown into the cup and air occupies space. The air would push the water down
as it could not escape.

Question 36 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

All usad the same apparatus [0 do & second mcpariment. He removed the siew and
made & hale on top of e plastic cup @5 shown in ihe dingrarm bedow

hole made on

(b)  What woudd happen to the waker levelin the cup afler e bode was rmsaE ?

Exglain why. i@l

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,237
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Correctly answered feedback

Water level will increase as the air inside the cup escapes, more water from he basin ill enter the
cup to occupy space

Incorrectly answered feedback

Water level will increase as the air inside the cup escapes, more water from he basin ill enter the
cup to occupy space

Primary 4 Science » Primary 4 Science (Term 2)

Question 37

Classily air, sound, coin and sunlight comectly in the table below.

(&)
Matter Mon-matter
(i) (&)
(i} (v}
Question Type: Essay
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,244

Correctly answered feedback

Matter Non-matter

(i) air (iii) sound

=z

(i) coin

(iv) sunlight

Incorrectly answered feedback

Matter

Non-matter

(i) air

(iii) sound

=z

(ii) coin

(iv) sunlight
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Question 38 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Darren wanted to transfer S0 mil of liguid (rom the beaker onto a pair dish
using a plastic dropper. Ha did the following a5 shown in the diagram

Dabow,
Siep 1: Hold the plagie Srep X Insert the dropper inside the
droppe @ vificsl poshion warler. Saquisers B rubber end of the

i & Leaker of walr dropper arel bubbles wit appear.

Slem X Rsdemppe e rotsbher end al the
dropper and waler will eler the dropper

Explain why bubbles were obsersed in step 2. 12}

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,329

Correctly answered feedback

There was air in the plastic dropper and when the rubber end of the dropper was squeezed, the air
was pushed inside the water and the air became bubbles in order to get out of the water.

Incorrectly answered feedback

There was air in the plastic dropper and when the rubber end of the dropper was squeezed, the air
was pushed inside the water and the air became bubbles in order to get out of the water.

Question 39 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

https://www.classmarker.com/a/tests/test/?test_id=1634783&trk=edittest_inrow_edit 27/39


https://www.classmarker.com/a/tests/qb/manage/?test_id=1634783&question_id=25755244
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634783&question_id=25755244&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1634783
https://0cm.classmarker.com/6226088_LD74DU5J.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634783&question_id=25755329
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634783&question_id=25755329&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1634783

8/6/2021 ClassMarker - Manage Test

Troem condusisd some st on fow maleists, P, 0, Raend 5,
He recardad his rasulls in e [Bbie shown balow.

w

Propsrty
finodbia

sinks in waber
walerproot
“ailows most ight Io puss
twough
A fick {J’jhhmhpmmﬂm wﬂﬂ ﬂ'mﬂf] indicatss ths absonoo of
1ha proparty.

a) Which material ehould be usad io maka a floal for beginning swimmarsT
Expiain your Bnawes. (2

b e Y B
-‘-‘ﬂﬁ‘\"ﬁ.ﬂ'lf
AR B e
R Y N S

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,755,333

Correctly answered feedback
R. It does not sink in water and is waterproof

Incorrectly answered feedback

R. It does not sink in water and is waterproof

Qu estion 40 Primary 4 Science » Primary 4 Science (Term 2)

Tom concluded that both materials Q and R do not allow any light to pass through. Is Tom correct?
Explain why

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,338

Correctly answered feedback

No. Even though they do not allow most light to pass through, it might still be able to let some light
pass through and not definitely no light light allowed to pass through

Incorrectly answered feedback

No. Even though they do not allow most light to pass through, it might still be able to let some light
pass through and not definitely no light light allowed to pass through

Qu estion 41 Primary 4 Science » Primary 4 Science (Term 2)
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Fiona Fiaasuned fha mess snd wolume of 2 meseurng cylindar of waber as shawn in
R 1,
She than plocad five markles in the measuring cylindsr of B waler as shown in diagram 2.

&5 crn?
3 o
, F R
ahacironc
— [(330¢ ]
Diagram 1 Cimgraen 2

(&) Based oo the inlormalion grean, sei ihe mass and volume of the mairtiles {1

[F} Minés of tha marbles -

Accepted answers:
v 30
v’ 30g

v 309

Question Type: Free Text

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,343

Question 42 Primary 4 Science » Primary 4 Science (Term 2) 0.5 pts
Volume of the marbles:
Accepted answers:
v 15cm3
v 15cm3
v 15
Question Type: Free Text
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,346
Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Question 43

State what happened to the water level when the marbles were placed inside the measuring cylinder.
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Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,352

Correctly answered feedback
The marbles occupy space and displaced the water causing the water level to rise.

Incorrectly answered feedback
The marbles occupy space and displaced the water causing the water level to rise.

Question 44 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

Flona filled wp her bathiub wilh watar 1o thie beim o ke 2 beth as shawn bl

e

[o)  Explain why ®o waler in jha bathiob cverflowss sl Fiona sal in the baihb [£]

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,356

Correctly answered feedback
The bath was filled to the brim and so the water rose out of the bath and overflowed.

Incorrectly answered feedback
The bath was filled to the brim and so the water rose out of the bath and overflowed.

Question 45 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
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Mick sel up an exparimant as shown below,

i Focmel @ el with B waax on - ona end of each of the three rods which are made of
diffarand meabertals, The oher ends of the rods wens insaried info the containes of hot
waier, The same amount of wax wes usod for all e Thres rode.

The thres rods have the same Bickness and anglh

Ha recorded the fima taken for the nell fo drog n he table bebow.

Rad “Tima taken for the nail to drop min)
i 1
x| 1
Y ]
{a) Based on Bhe inkormation ghean, which rod is the poorest conducior of hesl? Explain
YORIT BREWET, 7

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,363

Correctly answered feedback
Y. It took the longest time for the wax to melt, indicating that it conducted heat from the hot water to
the wax the slowest out of X,Y and W. Hence, rod Y is the poorest conductor of heat.

Incorrectly answered feedback
Y. It took the longest time for the wax to melt, indicating that it conducted heat from the hot water to
the wax the slowest out of X,Y and W. Hence, rod Y is the poorest conductor of heat.

Qu estion 46 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Based on your answer in part (a), state a material that the rod is most likely made of

Accepted answers:

v plastic

Question Type: Free Text

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,366
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Question 47

Question Type: Essay

Last Modified: N/A
QID#: 25,755,369

Question 48

Question Type: Essay

Last Modified: N/A

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

Explain why the nails from rods X, Y and W will fall off after some time

Date Added: Thu 7th Jan 2021

Correctly answered feedback
The wax gained heat from the hot water and melted and the nails were connected to the wax

Incorrectly answered feedback
The wax gained heat from the hot water and melted and the nails were connected to the wax

Primary 4 Science » Primary 4 Science (Term 2)

Mona places a metal spoon at room lemperaturs in a cup of hot coffea. Thea
tamperaiure of the coffae & 90 'C.

After a few minwtes, the metal spoon became very hot,

{a) Emplain why the metal spoon became very hot in a short time.

Date Added: Thu 7th Jan 2021

QID#: 25,755,373

Correctly answered feedback
The metal spoon gained heart quickly from the hot coffee

Incorrectly answered feedback
The metal spoon gained heart quickly from the hot coffee
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Qu estion 49 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

What happens to temperature of the hot coffee after some time? Explain your answer.

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,379

Correctly answered feedback

It would be the same temperature as the temperature of the metal spoon. The metal spoon would
keep gaining heat while the coffee loses heat until they reach the same temperature

Incorrectly answered feedback

It would be the same temperature as the temperature of the metal spoon. The metal spoon would
keep gaining heat while the coffee loses heat until they reach the same temperature

Question 50 Primary 4 Science » Primary 4 Science (Term 2) 0 pts

The diagram below shows ocrganism & growing in @ gardan.

Ben and Carol observed organigm O and made the following statements.

Ben: “This i not a fiowering plant because it has no fiowers

Carct *This k= a flowering plant. It produces fruits * |

(a]  Whose statement ls not correct? Explain why

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,393

Correctly answered feedback
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The plant has\d fruits but before the fruits developed, the fruits were flower and Ben said it had no
flower. Hence, Ben's statement is not correct.

Incorrectly answered feedback
The plant has\d fruits but before the fruits developed, the fruits were flower and Ben said it had no
flower. Hence, Ben's statement is not correct.

Question 51 Primary 4 Science » Primary 4 Science (Term 2) 1 pt

Ravi obearved thal organism R appearsad the next day after it rained near
GFganism O,

Crnanism O

{b)  Baeed on the informalion given, state one condition necessary lor
organism R to grow.

Accepted answers:

v water

Question Type: Free Text

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,396
Question 52 Primary 4 Science » Primary 4 Science (Term 2) 0 pts
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Question Type: Essay
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,401

Correctly answered feedback

Pare of the |l'p-|.'3'1‘|'i“ ikt sack part

State two useful properties of the material used 1o

i} s strong.

X i) 16 allows Fight 1o pass throwg b,
i} It is strong.
¥ i) 1t is waterproof.

Incorrectly answered feedback
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Pait of the hicvele | State two useful properties of the materinl used w
y make each purt

i} It is strong.

x i) 11 allows light to pass through.
i} It is strong.

¥ i) It iz waterproof.

Question 53 Primary 4 Science » Primary 4 Science (Term 2)

Mk bes bavo Bars nbeded Moand W and & od megned.
Bar M was attracted o the rod magnet as shown in the diagram below.

(oomgs [ v §

{a) Can this obssnvation be used o cencluds that bar ¥ & a magne17 Explain wiy. [1]

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,414

Correctly answered feedback

No. Bar N attracted the magnet so it could be a magnetic material and not a magnet. It needs to
show repulsion to conclude if it is a magnet as only magnets can repel another magnet.

Incorrectly answered feedback

No. Bar N attracted the magnet so it could be a magnetic material and not a magnet. It needs to
show repulsion to conclude if it is a magnet as only magnets can repel another magnet.

Question 54 Primary 4 Science » Primary 4 Science (Term 2)

Than he cgmriad out an eparimant using the bavo bers and fhe rod magnet. From his
panimanl, he conclinded hal Das M & magned

{b) Explain what he did mng the observalion he macs o oome 1o e condusicn that
bar M & & magnat i1

https://www.classmarker.com/a/tests/test/?test_id=1634783&trk=edittest_inrow_edit

0 pts

0 pts

36/39


https://0cm.classmarker.com/6226088_AWPKTX5S.png
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634783&question_id=25755401
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634783&question_id=25755401&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1634783
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634783&question_id=25755414
https://www.classmarker.com/a/tests/qb/manage/?test_id=1634783&question_id=25755414&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1634783

8/6/2021

ClassMarker - Manage Test

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,755,418

Correctly answered feedback
He held the rod magnet next to both sides of M and one side attracted and the other repelled.

Incorrectly answered feedback
He held the rod magnet next to both sides of M and one side attracted and the other repelled.

Primary 4 Science » Primary 4 Science (Term 2)

Question 55

Stuly Bhe fllowineg clasaificalion chart of seoane animals,

|.N'-11H|

|
| Has & 3-stage Ha cyda Hea & 4-alaga e Cygla
| i | I
Young | Wenng s Lays
mouTs (om0 agos OGS I
| muoul ‘ E land
: ‘é -
Lays
£gEs on
]

Hesed on {he informabon given, answer fhe questions befow.

1a)

Siate one simitariy bebwsen aramals & aml O

Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A

QID#: 25,755,420

Correctly answered feedback

They both lay their eggs in water.

Incorrectly answered feedback
They both lay their eggs in water.

Primary 4 Science » Primary 4 Science (Term 2)

Question 56

State one difference between animal B and C
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Question Type: Essay

Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,424

Correctly answered feedback
B's young moults while C's young does not moult

Incorrectly answered feedback
B's young moults while C's young does not moult

Question 57

ClassMarker - Manage Test

Primary 4 Science » Primary 4 Science (Term 2)

Pt & {+] in e comest box for an animal thal represants animal B and

gt animal (sl repressacis animal E 2]
[ Amm=lB fnimal £
(i chicken :
(i) cockmach | =
{41y mosguito ' =1
{iv) Bt
Question Type: Essay
Date Added: Thu 7th Jan 2021
Last Modified: N/A
QID#: 25,755,433
Correctly answered feedback
|_ - = e Tl T _I
Animal B Animal E
(i) chicken
e — - o —I_
(if) cockroach
{iii) mosquito
(iv) beetle v

Incorrectly answered feedback
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i AnmalB |  AmimalE |
(i chicken _ 1
(ii) cockroach __-__v’ -

{iii) mosquito _ i

(iv) beetle - : v
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